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classdef MEC
properties
id %MEC 9] ID H3%

installed_svc_msk % ©] MEC &= oj¥ Au|~Z &g =

% AHls FiE REQ & 22t Y/l Wk
o o 2s) @l

recvd_requests_per_svc_cntmsk

Eokohw

SVC_LIMIT % A¥]2 F/F+ 1,2,3,...,SVC_LIMIT & F++3F

avail_capa % service capacity
end
methods

function obj = MEC(mec_id)

% MEC Z#]~ AR vt=A] AAAS EgaA vt S~

O] ~E] A~

1T -

2% AT F UES.
obj.id = mec_id;

end

function obj = setlnitialize(obj, MAX_SVC_LIMIT, MEC_CAPA_MIN,

MEC_CAPA_MAX)
0bj.SVC_LIMIT = MAX_SVC_LIMIT;
obj.installed_svc_msk = zeros(obj.SVC_LIMIT, 1);

obj.recvd_requests_per_svc_cntmsk = zeros(obj.SVC_LIMIT, 1);

obj.avail_capa = randi([MEC_CAPA_MIN, MEC_CAPA_MAX], 1, 1);

end
function ret = returniD(obj)
% MEC ¢ id #& #®lshes va=
ret = obj.id;
end
function obj = setlnstalledSvc(obj, prob)
assert(obj.SVC_LIMIT >=1); % ko] AA = A=AE HA



% MEC ©l pre-installed ¥ service image & %912 A4 3y

% uniform[0,1] & ¥ X5 714
assert(prob >= 0 && prob <= 1.0);
for i=1:1:0bj.SVC_LIMIT
if( rand() < prob)
obj.installed_svc_msk(i) = 1;
end
end
end
function obj = setRecvdReq(obj, rate_max)

assert(obj.SVC_LIMIT >=1); % #ko] AAE o JAEAE HA
A

% MEC 7} users & F-E] AH|~ Q35 W AehS
o EHelEdt= g
% https://kr.mathworks.com/help/stats/poissrnd.html
for i=1:1:0bj.SVC_LIMIT
% A4 AYT 5 gl req 7 AAF A
if(obj.installed_svc_msk(i) == 0)
% 7} svc ¥ mean arrival rate A1}
poi_lambda = rand() * rate_max;

% poisson arrival °ll w2k recvreq S A

obj.recvd_requests_per_svc_cntmsk(i) =
poissrnd(poi_lambda);
end
end
end
end
end



